11.

12:

13.

14.

15.

How many fencing posts, spaced 5m apart, are
required to fence a rectangular plot measuring
745m by 230 m?

A. 391

B. 390

C. 195

D. 196

Awinja bought a pair of shoes for sh 810 after
getting a discount of 10%. What was the marked
price of the pair of shoes?

A. sh 81 .

B. sh 729 /

C. sh 891

D. sh 900

The table below shows the amount of milk

delivered by a farmer to the dairy in 6 days.

DAYS MON | TUE | WED | THUR | FRI | SAT
MILK IN LITRES | 20 17 21 15 21 22

What was the median sale of milk, in litres, for
the 6 days?
A. 18

1
B. 195

: 1
C. 207

D. 21

Mutiso and Oluoch shared the profit of their
business such that Mutiso got % of the profit.
What was the ratio of Mutiso’s share to Oluoch’s
share?

A. 3:

b W
W L W N

B. 5:
C.

D. 2: |
(0.5 0.2+ 025 ,

What is the value o 00

A 14
B. 635
L. %o
D 275
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